20230103

Batsystem

A~

PB1050 - Mounting instructions

Batsystem AB, Traneredsvagen 112, 426 53 Vastra Frolunda, Sweden

+46 (0)31-69 03 80, www.batsystem.com, info@batsystem.se

NOTE: This boat accessory is only to be used at sea. OBS: Detta battillbehor dr endast for bruk till sjoss.

O

You will need this:
Detta behover du:

“H

[1]

Q) =
@:M X1 M10x110

- — x1

o| x1

o o

AL

x2 . == = =
= 232 @ g322 x18 x4 X2
w @ M10 M8 M10
W x1
X2 X2 x1 x1 X4 x4 x2 x2 x1 x1 X2 X1

M10x50 M10x60  M10x40 M10x35 M8x50 M8 M10 M10 M10

®©0O 60O VOHOBY ©

Mounting/montering:

}

/

f
|
U

* If needed /
Efter behov.

\w "
e
?‘|M““\ %




20230103 2

The steel frame may be
adjusted in width, if
necessary. Loosen
mounting bolts first
then secure again.

Stalramen kan justeras

i bredd vid behov. Lossa
fastbultar innan och fast
sedanigen.

Mounting of brackets for gennaker and Code-0 [ Montering av faste for gennaker och Code-0
Strut and Code-0 attachment MUST be mounted at the same point / Stag och Code-0 faste MASTE monteras vid samma punkt

Without anchor holder system / With single bow roller / med ankarrulle
| utan ankarsystem '
Q Alt g . %
C

Use Sikaflex on the fittings. /
Tata med Sikaflex vid infast-
ningarna mot skrovet.

ol o o o o o o) ol o o o (o o o)
———  ——
1 2 3 4 5 6 4 5 6
\ \
Use any hole 4+5 or 5+6 for mounting of code-0| Anvand hal 4+5 eller 5+6 for faste av code-0
Anvénd hal 4+5 eller 5+6 for faste av code-0 Use any hole 4+5 or 5+6 for mounting of code-0
—
- @)
, “ Y
y —
eeeeee ‘\ \\ #:-:\7
N
S ~
Customize the teak after the bow shape. / Anpassa teaken efter forens form. Fit the plate on the bottom of the teak.
Montera plattjarnet pa undersidan av teaken.

Anchor roller / Ankarrulle

l 0|..||..”. | [ ® ee o o Y |
R | R /B S —|
Loosen the fittings (for starboard or port). Cut an opening in the teak.
Lossa beslag (for styrbord ellere babords montering). Saga en 6ppning i teaken.

P130X, max 15 kg




20230103

Batsystem BU76P-12-

e

Mounting instructions

Batsystem AB, Traneredsvagen 112, 426 53 Vastra Frolunda, Sweden

+46 (0)31-69 03 80, www.batsystem.com, info@batsystem.se

Detta behéver du:

You will need this:
5mm
W -‘ MARKER PEN
=
[1]

Innehall: Stege / Ladder:

BU76P-4
N
(@)
=D =

x4 x4 X2
FSM5x35 M5

O @06

Monteringskarta:

) |

\
—

Q)

oo ofe

°
c®|® OO




20230103

Batsystem BKT72, BKT73, BKT74 - Mounting instructions

A~

Batsystem AB, Traneredsvagen 112, 426 53 Vastra Frolunda, Sweden
+46 (0)31-69 03 80, www.batsystem.com, info@batsystem.se

‘ I ) NOTE: This boat accessory is only to be used at sea. OBS: Detta battillbehor &r endast for bruk till sjoss.
o

You will need this /Detta behover du:

Content / Innehall: Ladder / Stege:

(am)
X2 X2
M6x35 M6

W é 1
i1 © ®06

For bowsprits / Pa peke:

! I

Make sure that the frame sides are mounted

in parallel so that the steps do not get
stuck when it is folded. /

Se till att ramsidorna monteras

parallellt sa att inte stegen

fastnar nar den falls in.

X
N

(-




20230103

Batsystem PB1050BL - Mounting instructions

A~

Batsystem AB, Traneredsvagen 112, 426 53 Vastra Frolunda, Tel: 031-69 03 80, Fax: 031-690097

www.batsystem.se, info@batsystem.se

‘ ! ’ OBS: Detta battillbehor ar endast for bruk till sjoss.  NOTE: This boat accessory is only to be used at sea.

Detta behover du:
You will need this: ﬂ
17

N

Q) == = x
.@:m x1 Mi0x110 @|° °o o o|lmx

= = = =

®32 x18 x4 X2 x1 X4 x4
M10 M8 M10 M10x50 M5  M5x25
@ ® i @

X2 X2 x1 x1 X4 X2
M10x50 M10x60 M10x40 M10x35 M8x50 M8 M10 M10

©0 66O VOB @QQ@

Montering:

* Efter behov./
If needed

\\\‘
\\\\\“‘\‘ \a




20230103 2

Stalramen kan justeras

i bredd vid behov. Lossa — i
fastbultar innan och fast ﬁ N
sedanigen. Q 0
The steel frame may be i

adjusted in width, if )
necessary. Loosen @ o
mounting bolts first ) | oo o o

then secure again.

Montering av faste for gennaker och Code-0 / Mounting of brackets for gennaker and Code-0
Stag och Code-0 faste MASTE monteras vid samma punkt / Strut and Code-0 attachment MUST be mounted at the same point

Without anchor holder system / With single bow roller / med ankarrulle
| utan ankarsystem

Noya¥© 0® . @
(

. . A o o o o
Tata med Sikaflex vid infast- ©c o o o o | -
ningarna mot skrovet.Use Ry
Sikaflex on the fittings.

o) (O (o] [e] (o] [e] O) (o] o o o ( [e] o) [e] )
/ \/
1 2 3 4 5 6 4 5 6
\ \
Anvand valfria hal for faste av code-0 Anvand hal 4+5 eller 5+6 for faste av code-0

Use any holes for mounting of code-0 Use any hole 4+5 or 5+6 for mounting of code-0




20230103

Laminatblad
Laminate blade

Blacklineskivan anpassas till staven efter behov. Materialet i plattan
ar hart. Anvand laminatblad for att undvika flisning av materialet.
Forsegla ytan med svart sikaflex.

The Blackline board may be customized after the bow shape. The
Anpassa skivan efter forens form. material of the board is hard. Use laminate blades to avoid chipping
Customize the board after the bow shape of the material. Seal the surface with black Sikaflex.

Montera plattjarnet pa undersidan av skivan.
Fit the plate on the bottom of the board.

Ankarrulle / Anchor roll

P130X, max 15 kg

Lossa be‘slag (f-6r sty-rbord- ellere babords montering). Saga en 6ppning i skivan.
Loosen the fittings (for starboard or port). Cut an opening in the board.



20230103 4

Batsystem BU75P, BU75P-4 - Mounting instructions

W Batsystem AB, Traneredsvagen 112, 426 53 Vastra Frolunda, Tel: 031-69 03 80, Fax: 031-690097

www.batsystem.se, info@batsystem.se

Detta behéver du: Innehall: Stege [ Ladder:

L
BU75P | |
6\ BUT5P-4 |
&) = -
=D =

X6 X6 X6 X2
FSM5x35 M5

— = T L0000 ® =0 g

Monteringskarta MP40:




Batsystem BKT73, BKT73T - Mountinginstructions

A

www.batsystem.se, info@batsystem.se

Batsystem AB, Traneredsvagen 112, 426 53 Vastra Frolunda, Tel: 031-69 03 80, Fax: 031-690097

Detta behdver du:
You will need this:

L —ie=

[1]

Innehall: Stege / Ladder:
U
| BKTT3
BKT73T
=
X2 X2 X2
M6x35 M6

o @

Montering:

Se till att ramsidorna monteras parallellt sa att inte stegen fastnar
nar den falls in.

1§ T

goemm

Borra hal.

D




